20214 BOINIEDH AEH

1 | 187 4T [200] B B2Z [590| B8] 5T [o70| [BH) ARTE |1350| FREE $8— |ro00| FREE BN |2720| =B IEA |3980) LUK $EZ |4290] JEZR TR [s5000| 4 EHE
2 | &aH &I |220) BEXR B |600| A EF [os0| FBE =Fit |30| ZEf FBP |100| FEF R |2700] AR B |3500) EIR FE |200| IR FE [505| BE —F
3| BfA FEL |230) i5H &— |6t0| FERE FFH |ooo| MH BEE |570| KA R [2000| LUAK BER [7e0] FIFP RAE |50] WUAR T |00 FHEF BEK 50| FOEF IEIE
4 | 58 G\ [240| 1LFE KEEP |620| FREF #85E |ro00| T JHR |1350] BH FF |200] UG R |27s0| EH TR 50| BEH — |00 UK $RTE) |s0o75| $kH $65C
5| KH &EfE |250| R FLE |630| f84E =) [00] KB B |30] KF JF— |20 LH BT [2500| PEE F |500| LUK BAZ || BR RE |50 FIEF FHR
6 | Balfk B84 |260| ZAP IE[E [640| [ FUEZ |10 KE $8— 10| FE IEF |2000| ik fE—EB |2520) B T 3500 KA XA |30| =WF FE [525| e WO H
7 | WAR —2& |270| EH FIBE |650| ;KB BEE [ros0| MNEIR {ET) |1er0| BRE SR |2000| LUTF B |20 LUTE G |3500| BA 1HE |00| $AE $81 [ss0| WBFE H—
8 | fald FZ |280| BEAR G [e60| HRFH FRK |roeo] BH BRI |1o0] ZUF HFE |200| BH FE |20 B FE  |3520| TR B |+350| FELU FBE |5075| Sgith BEK
9 | Hh)Il Hii [200] RIR BA |670] KLU Bt || ) FLE |1930] HES B |2120] BEF HE) [2000) PHF AK [3600| WG 1RBH7 |oo00| HEET iRHH |5200| 2] BB
10| <EF 550 [300| 4 BRI |eso| JIIZAR fB— |roeo| BEH G |1e] LAZ2 B |20 FWIER |20 KFEE [3o0| 18H Fia |+ FxF FET |52 HE REX
15| ¥R4Y 1IEEE |310| E5R IELE [e00| il BN [ro70| EHAIE |reso| £ /E 1EFE |200| B FEAT |2020| BEES i 3600 Bl BFEK |400| 27K 8 |5200| BREF F—
20| {¥5 j&Z |320] FERE BR  |700| SEMH 3X— |wso| FRE RBF || IBK EE || 18H Eia [0 TR BIFE |00 BEIR FHI |4e0| FER 4%

25| HE 52 [330] BEKZE |710| 18R JEZ o] BFF 28R |1970| IUTF EFE |2200) Fit BT |2000) KH BIE [3720| LG B8 |s0| F)I| AT

30| HHEH FRF |340| FE {55h |720] HE $FA |1100] BFP ITE— [1as0| iR REE |20 LU HEH 2000 FHE FIE 3740 HP EBKEP |4s00| 42 R X TF

35| & 35— |350| A TH |730| 4B BX || HKES || $HJI| ZBP [2290| Z {BE |300] TH j535 |3750| BA {EH |4520| I K

40| HEF 324 |360| KE —i8 |740| FH MG |10 KEF Y |1500| BP)I] BT [2200] BH REK [300] FHE B |37e0| L ABG |45+ BEIR PES

45| K] 8= |370| REA X |750| BAE B 10| AT Bt |50 SR iER |22e0| BAIBT £ |00 LUO BA |3s00| BEES X [4s00) PR fE

50| &M & |380| &ih fEKEB |760| F BEEE |110| HREF FET |1590| FRE BI—HB |2500) BAR A [s000) K BEIT |50 JAIA I |4se0| K B

55| iBA B |390| F B |770| TiE HE 1150 BH HR— |1560| 88K SRREP |2520) FRIL LK [s0s0| M FEF  |z840| PR FFAP 4600 KIF S¥AZY

60| )l H4a |400| FTEE HEZ |780| il GIT |1e0| th4AK X |1500| R BE |23+ MR MHZ |50 7KH 38 |3500| B =& |40 FERH X

65| KEF = |410] YTH S |790]| P T |1o| 184 1484 |1o00) AR SABA |2300| R 82 [3120] FE FEfE [s000| NI BRF [4e0]| #AK EIA

70| AIEF #54 |420) =5 —EE [soo| EFR BN [1s0] SEFE G [0 IUT T 2500 EH K |s1e0| JOIEF SLFE 3000 JOIEF [l |see0| M EIEEE

75| fH Rig |430| 17H 1B |s10| TRP FIT |1oo| BFH SHE o] = HizE |200] BRE RIE [o100]| EF BXF [0 HE B [ooeo| EEP HA

80| FxEA MM |440]| B B [s20) S3IL ]l |[r200| ZEH FRER |1o00]| ZF BE— |200| BiF BX |350| KA TS |30 EE FTiff || iHK FIE

85| BiEE T |4s0| 75 FEH |s30) itk G |20| FBES BAAN [1se0| FiE ST |200| REF F{C [o200] JEHH FESE 30| REE IEF |40 $9iF BE

90| E147 #ailk |460| FiBH 1B [s40]| BB H]| || RE RBE |voo| FH F]— |2ec0| A BIRED |3220| KFF IETE |00 AH 8RN |9+0] K8

95| Bl B |470| F4kE F3X |8s0| T Rt |1230] MM EZ |70 \NK [BBE |2900] AR R[22 TREF FB || FEH fEF) |+7e0| FH= 5hE

100| YK BB |480| JRH B |s60| ElF B |12 L T || £E BT |50 Tl B2Z [20| SH FB5A || B BET] |+=| 5 B8P

110| PHPE ZE [400| BIR —BB |870| 1HH B |2s0| LU RE || FFRINB |2520| SEH £ [s200) TIEH B2 |40 1B XL |+s00| MK HE

120 EH E&H |s00| HH 9 |sso| HE FREE |1200| FAE BBIE [17s0] K B— [>0| FEH 8 |30 FH SA |veo| ZHf HE || it S

130| F7H 3Eth 510 skH KiF |s00| EiE 1671 |1270| bR BATE [1s00] KRR Ff |2500| (UG $3— [s50] BER BT 00| BAE BE— |+e+| FHLL £8HH

140/ M| 58 [520] ¥ EE |o0o| )l SAFE |20 HhIR Bath |1s20| Sgith RF |2550| SEH (ER [3340) IEF] EEiE |+00] FEEH AR |4so0| ¥R Bl

150| KPE FZ= |530| B BASE |o10| FIA j&EZ |r200| HA)I| HUHfE |1540| BREE BESL |2600] AR EMN |3300) BHEF TIE [4120] JKH TK [+e00| $HIR FH—

160| FHEP j&E— |540| HR)II PRl |o20| R TRl |300| T B |1500| KR FEFE |25 BiS thE |00| BH BE [1w0]| R E— |ow| SH XE

170| AR R [550] KE R |o30| EH BRE || AR HE || RH E |00 RBIE 52 |30 HiH AR |« =W &3 |+ AR E

180| tHE 1E18 |560| SR —&k |o40| LUA BBER |1320| HA FPSE [1000] BH £ |2000| HIF RFE [3920| FRII $hED |o100| BAR E— |20| HP JIRK

100 Z§ FIZE |s70| EE ST |oso| JEHE SEIE |1330| ARER BN |102o| REH JEXK |2680| KB HR—EP |390| Bl BT |200| R BT |+oe0| HE BN

200| 47H 1E2Z29T |580| G HR4E |oco| FTBH {E# [13+0] HH & |10 LUAK IZER |2700| B EZFE |se00| RRPEF M2 |9220] {E4H B |o030| fERAK B




